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00 4(4/2600). Collatz 000 D0O0DDOODDOO0ODO0OD 100000000000000OOOO0O Collatz OO O :
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/* collatz.c 2010-04-26 */
0O0o0o0oooogoooDoo 10000

#include <stdio.h> gogn

int main(int argc, char** argv) Check Point:

{ gogoboboogobobooooon
int n;

e OUUIUODODODOOUOODO
e l000I0ODOODOODODO
e DUOOODDOOODLDDODO

printf("Input a positive integer: ");
scanf ("%d", &n);

hil I=1
while( n ) gboboooobooboboboon

' if(n % 2==20) goooo
{ n /= 2; 000 10000oooooooooon
} dodoboooooobooobooooo
else gooooooooboooobooooo
{ n=on k341 gooobodoobooooooogo
} goooooooobobobooooooo
printf (" --> %d", n);

}

printf ("\n");
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8-1 0000 (indent) DO DO OO

cOooooOoOoO0O0O0OOO0O0O0O0000000D0D0D0D0D0D0O0ODDOOO0D COODUDUDDDoDOoooooDOoOO
gobobboooobbooon

0000000CO0000000UooonO (freeformat) 00000000000 0O0O0OOOOOOO
0000000000000000000 (DO0DDO00O00O0)0000000000000OD0OUoOOOO
goobboooobbbooobbbooooobo

uogbobboooobobooooboobooboooad

e 0000 {0 }YODODOOOOOOOO
e {0 }OODOOODOODODODODODOOD
e 10U UOOODLDUOODDLDOUOUODLDDOO

{r000ooooooo0oooooooo0ooooooobo0oooooOoooOOoOoooooboboOoOooooO
goboboooobobooobobbuooooo

Emacs 000000 .cO000000000000DO COUDOO0DO0O0OO0O0OUOOOOOOOOO (c-mode)
goboboooobobooan

e {0}000000D0O0O0DOODOODODODOODO
e J0DD(Tab)OD - ODOOODODOODODOOODODOOODO

000000000000 0000000000000000000000000000000000000
0000000000000 (Teb)] 000000000 DODO0O00OOO0O0OODO0
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goooobobobbobbbobooodgd

00 OEmacs 0 cmode 000000
gobooooooouooooodon
gdooooooouoooboooooo
“/.emacs 0O OOOO
(add-hook ’c-mode-common-hook
> (lambda ()

(c-set-style "bsd")

(setq c-basic-offset 4)))
gdooooboooooooooooo
ogoooo



82 DO0OO0OoOooo

000000000000000000000000000000O0O0O0O0O0O0MOO0O0O0O0OO0O0O 10
00 (0000 1000)000000000000000000000000000000 (increment) O
00 (decrement) 000 ++ 0 -- O0000000000000000000100000 (0000
0)000000000 ++(--) 00000000

ooOd ++ (OO0 ++ 000 ) ...0..
ooo -- (ooo --ogooo ) LLO..

OO (increment)

OO0 (decrement)

0000000000ooo0 10000 (0000)00000000O000 1000 (DoOo)oooo
gobobbooobbboooobooboooobobboooobbbooooonoo

00 8.1. Collatz OO D MM3000 1 0002000000000 100000000000DOOOO
0000000000 collatz.cOUODOODOOODO1IODO0O0ODOOO0ODDOOODOODOODDOODOODOOO

OO0 1. 00000000000 collatz.cOOOOOOOO3000 100000 ==0020000
OO0 ->000000000O0000O00000o00 100 wVOoooOooooLogooooooOooboooo
collatzl10.c OO OOOO

=> ./collatz10
Input a positive integer: 7
=> 22 -> 11 => 34 -> 17 => 52 -> 26 -> 13 => 40 -> 20 -> 10
-> 5= 16-> 8-> 4-> 2-> 1
16steps.
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Olo000oboobobooobomoon
gboboboobobooboobooon
nt=1; 00O n++; DODOODOOODOO
ggoon

m = ++n;

n000 1000000000000 m
oogd

m = n++;

n000 100000000000 mO
oo

0000000000000000000
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9 0000 (3)0000 00 20

gobobbooobobbooobobboooobbboooobbboooobLbbodfor oo™

for( OOO ; OOO ; OO )
{
gooogg

(1) 00000 000 00000 (0000000)0
(2) 00 000 0000
Da00000000000000000000
(0: 00000000000000000000000000000)
ODb00D0O000000000000 000 000000000 0000000000 0000000

O .forJ000000OO00O:00 i000 100 nO00O00O0DOODODOODODO0ODOODDOODOODO

for(i=1; 1i<=n; i++ )
{
oooooo

00 5 (00 5/16(0)). CollatzO OO OO D O10000000000000000O000OO0DOOOOO
0000000000000 000000 (bOoDOU0DO0OO0O0O0DOOooOOooOOoDOooOn)O
gogboobbooobobboooobobobooooooboboooobboooLobLbbooobbboooobo
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godoboboooobbbooooooo
ogoboobodg ;,gobogod
ggooboooobooboooooo
odn

ooooo
ooag ;
while( OO0 )
{

oooood

oo
}
0o0oooDoOOoooooooooooo
O for 00D0O0O0OOOOODO
00 while OO for OODODODODODODO
0000b0O0 for 0000 0DOODO
000000D0oOoDOOoooDoOon

ubooboooooooogooooon
udn



